Week Beginning 08.03.21: Year 2 Homework

English

Task 1: Read at home

Access books using the active learn log in https://www.activelearnprimary.co.uk/login?¢c=0
(email gis.year2@schools.sunderland.gov.uk if you need this log in for your child) or
Oxford Owl https://www.oxfordowl.co.uk/login?active-tab=students using the login for your
class (username and password both: gisclass1 or gisclass2)

Task 2: Expanded Noun Phrases

Watch the BBC Bitesize video about expanded noun phrases:
https://www.bbc.co.uk/bitesize/topics/zwwp8mn/articles/z3nfwbf

Using the people/animals in your house create as many different sentences as you can with
expanded noun phrases.

Task 3: Adverbs
Watch the BBC Bitesize video about adverbs:
https://www.bbc.co.uk/bitesize/topics/zwwp8mn/articles/zgsgxfr

How?
angrily hungrily
anxiously inquisitively
cautiously irritably
cheerfully joyously
courageously loudly
crossly madly
cruelly merrily
defiantly nervously
doubtfully quickly
elegantly sadly
enthusiastically safely
foolishly shyly
frantically solemnly
gently weakly
gladly well
gracefully wildly
happily

Choose an adverb from the list and write a sentence. How many different sentences can you
write with different adverbs?

Maths

Task 1: Superhero Maths
Practise your Superhero Maths facts for the superhero you are up to. If you are not sure of
the superhero please email us at gis.year1@schools.sunderland.gov.uk and we can help.

Task 2: Multiplication
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4. There are 10 children sitting at each table in a dining hall. There are 8 tables.
How many children are there?

5. The pictogram shows how many socks each child has. How many socks does
Asif have?

‘ represents 2 socks
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6. Write a story to go with this equation.
6x10=60

7. Complete the calculations.

7x5=] ] 10x4=[ ] 9x2=[ ]



